t}2 134 AE = DE = DB
o] AC//DE°|t}. /CAE =
34°d o, /B9 A7)& ot

34°

/B = x2 5t /DEB = x
ABDE oA ¢]Z}2] A of 2]5te] /ADE = 2x
AE = DE©C]|2& /DAE = 2x

AABE o)A £]7+9] Ao o]t LAEC = 3x
T3t AC//DE°|E& /ECA = /BED = x

wtbA] AABC O] WZhe] k2 180° 0|22
3x+34°+x =180°
L x=/b=2365°




2. & gl e A ABCD o4l AB = AM, /AEM = /CEM
A uff, /x 2 yo] g2 ZHZF Guplz?

@D 45°, 10cm

@ 60°, bem

3/x = 180° ©]|B 2 /x = 60° ©|T}.
o] SHAZre] o] E]Zt9] o] 5
y=5+5=10(cm) ©|t}.

e
2,
rlo
me
r'E
o
-
)
o,
ol
gl
_?L
|d
il




3.

@® /B = /CAD ©°|t}.

@ (B ¢t /BAD 9] 27]9] &2 65° o]t}
(G)BD 9} AD © Lol Az 2

@ AABC 9 AACD o] B7te] 27)%= m% ),
OLB ¢} /BAD 9] 27|= Zth,

Lol A2 thth
® /B =50° /BAD = 15° ©|2& F7]& tf=2o},

® AABD 9|A /B &} /BAD ¢] 27|17} tt2E2 BD ¢} AD ¢




B

7 22 AABC ol|A] CD ¢t o7t 22

= 19

o

4.

ol
S




AADCE ol sz g0l B

LA = /ACD = 35°

/ACB = (180° - 35°) + 2 = 72.5°
(- AABCE o]5HAZ )

. /BCD = 72.5° - 35° = 37.5°




=80°¢%

@ /DAB @AABE ® ¢ABC

@).acB @) .car

B

@ Zo] Hlo|ZZ HoW /BAC = /DAB = 80°
@ /ABE = 180° — ZABC = 180° - 80° = 100°
® (BAC = /ABC = 80° (97})
@ AABCQ WZ+9] ghe 180°0]1 2=

/ACB = 180°—80°—80°=20°
® /CAF = /ACB =20° (97




o5 283} Zo] Zo] A7t Fol Ho|ZE Mt (FGE = 68°
g, x9 371=?

® 36° @ 42° ® 50° @®)56° ® 60°

S5 ~
/DFE = (EFG = /x (F°] HL2 7}

(DFE = (FEG = zx (27})

.. (EFG = (FEG = /x

wabA AEFGE ©7he] 37]71 21, GF = BG ¢ o] S Azt
Folrt.

Slx= %(180° —-68°) =56°




8. the Iy 2] Fo] AR

g, x9 371=?

Zo] glo]Z & 3

@ 20° @)22° ® 24° @ 26° ® 28°
/ABE = 180° - 136° = 44
/ABE = /BEF = 44° (91 H
1
/BED = /DEF = 5 x 44° = 22° (Fo] A2 7}
/BDE = /DEF = 22° (312}

Solx =22°




the 3 7o) ,C = 90° ol A ZFo|EMAIZIE ABC 9] 9]Hd|
AD = AC, BD = CD 7} 5= % & D & 9}t BDC ¢ 27|15
Tstofet.

D
A B
C

> = 2
> &g 30°
ttS 183 o] AC = BC ©]2 /CBE = 90° o] I &=
AAZ+E ACBE & 1831 DE & 3ttt
D

E

Al B
C

ABCD 7} BD = CD ¢l o] 5H4ZA ol 2z
/DCB = /BCD

ADCB ¢} oACBE °|A4] BD = CD, AC = BE,

/ACD = 90° - /DCB = 90° - /DBC = /EBD ©¢|2 & aADAC =
ADBE (SAS 3%)

. DA = DE ©|E & AADE & AAztgdo|c},
olm, ,CDB = x 2} o} ACDB + °|%

1 X
/DBC = -(180-x) =90 -
. /DBE = 90 — /DBC = 90 — (90 _ _) _*
ADBE °||A] /EDB = /EBD = g
/ADC = /EDB = g
X X
(ADE =60 °|2= sHx+3 =60

2
. x=/BDC = 30°




10. TS IYHoA AABC = AB = AC ¢l o]5H47g o] AB 9 3
L—EPQEJME UH,ZJH-Zy—JEU]ICO

A
P

B30

D)
Q

@9 @100 @1 @20 ® 130°

‘I

] O]

O

(¢]

Ly = (BAQ(AH)
whhA] zx + £y = /BAC = 180° — 2 x 30° = 120° ©|t}.




11. & o4 AB = AC ©|2 CD = CE ©|t}. /EDC = 68° ¢ o,
(B °] 37§ ot}

£C = 180° — 68° x 2 = 44°
(B =/0=44°




12. th& 1A AB = AC = AD, /FAD = /BAD ¥ o, sx ] gt}

T2 A2

@ /AED @) acp ® /ABC

(BAC = 112°
1
/BAD = /DAF = 3 (180° - 112°) = 34°
T+

(ACD = (180° 112° - 34°) = 17°

b zx = 34° — 17° = 17° ©]|t}.
oo Lx = LACD = /ADC




13. o3 Iol4 AABP = AACP ©]t}. PD = BD ©o]1!
o, CD ¢] Zo]& Fstoiet.

A

>
> HE. 16cm

3
-,

AABP = AACP 9J|A]

PB =PC,AB = AC, /BAD = /CAD °|2&
AABD = AACD(SAS) 35

u2hA] /ADB = /ADC

(ADC = 90°

- PD = BD =CD = 16(cm)




14. thg 197} 2o] AB = BC 14 A
o4 Hule] el WAL 717} D, E 2w @
sk B0l @~ ol EoiZ TS e

A

D

Bk C
[714] AB=BC, D, E= AB ¢ BC 9 4
[22] AE=CD
[578] AADC 2} ACEA ©f|A
(D)=+s5---O
(DAC = /ECA ---©
% AD = AB,CE = | BC o] 7 AB = BC o]
(@)
9,0,0°14 AADC ¢t ACEA &= SAS &5
wet (@ )

@O AE, AD = CE, AB & CB ¢} Zo]7} Zt}.
@ AE, AE = CD, AE = CD ¢} Zo|7} £t
® AC, AD = CE, AB += CB ¢ Zo]7} 2t}
@ AC, AE = CD, AB £ CB ¢} Zo|7} 2t
(G)AC, AD = CE, AF = CD ¢} o7} 2t

[7}8] AB=BC, A D, E = AB 2 BC ¢ 54
[22] AE=CD
[5%] AADC ¢} ACEA ©f|A]

= AD = ;AB, CF = %@ o)1 AB = BC 0|22

(AD=CE )@
3,0,6°14 aAADC 2} ACEA = SAS &5
watA (AE & CD ¢ Zol7} &t} )




g TRoNA 9] @e Fatolat,

>
4
> ®E: (1) 12em
>

HED (2)7em

(1) B =/ColBE Ol%ﬂd 4z oltt.
b x = AB = 12¢

(2) ZACB = 180° — (70° 4 40°) = 70°°|E.&2
AABC+= o5 4z g ol
~ x=AC=Tcm




16. o3 233 Zo] /A = /B 91 42 ABC & W AB of 3]
Z

o ¥l AB, ¥ AC S} ¥l BC ©] A7 413} BhLp= -3 21
A3ttt BF = 7cm, AE = 2.5cm € W], A& EC 2] Zo

A—2D B
B
¢
F
cCF cm

/A = /B ©]"H AABC = o|5HAZIgo|n g2

AC=BC
(A =/B=atd}stA
AADE ©of|A

/AED = 90°—a

T /CEF £ /AED 9] W& z|Zto|Bn g2
(CEF =90°-a---O

% ABDF O] A]

(/FBD = a, /BDF = 90° o]|B&

/BFD =90°-a---©

@, ©°lA ACEF £ o]5HAZgo|n=z
CE = CF = x 2t 5}¥
AC=BColBE&R 25+x=T-x

. x = 2.25cm

wtebA] A7 EC 9] ZolE 2.25¢m ©]tt.




